
𝐹 = 𝐸𝑞

𝐹 = 5 x 106 x (3.37 x 104 x 1.6 x 10−19)

𝐹 = 269.6 N

𝑞 =
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𝐸

𝑞 =
6.56 x 10−11

5 x 106

𝑞 = 1.3 x 10−17 C

𝑁 =
1.3 x 10−17

1.6 x 10−19

𝑁 = 82
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𝑞
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1

4𝜋𝜀0

𝑞

𝑟2

𝐸 = 9.00 x 109 x
30 x 10−6

(0.03)2

𝐸 = 3 x 108 N C−1

𝐹 = 𝐸𝑞

𝐹 = 3 x 108 x 12 x 10−12

𝐹 = 3.6 x 10−3 N, away from the 30 μC charge

𝐸1 =
1

4𝜋𝜀0

𝑞

𝑟2

𝐸1 = 9.00 x 109 x
8 x 10−6

(0.3)2

𝐸1 = 8 x 105 N C−1, right of Q

𝐸2 =
1

4𝜋𝜀0

𝑞

𝑟2

𝐸2 = 9.00 x 109 x
6 x 10−6

(0.6)2

𝐸2 = 1.5 x 105 N C−1, right of Q

𝐸𝑛𝑒𝑡 = 𝐸1 + 𝐸2

𝐸𝑛𝑒𝑡 = 8 x 105 + 1.5 x 105

𝐸𝑛𝑒𝑡 = 9.5 x 105 N C−1, right of Q

 


